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 0.91%   0.32 [0.01,  8.26]
 3.22%   0.33 [0.07,  1.65]

11.69%   1.01 [0.58,  1.76]
 5.38%   0.81 [0.26,  2.57]

 1.51%   2.11 [0.18, 25.35]
 0.63%   1.00 [0.02, 51.17]
 0.93%   3.07 [0.12, 77.69]
 1.87%   0.23 [0.03,  2.13]

 0.62%   1.00 [0.02, 52.85]
 2.27%   1.01 [0.14,  7.34]
 3.50%   0.75 [0.16,  3.47]

 0.92%   3.10 [0.12, 78.87]
 2.66%   1.54 [0.25,  9.42]

 1.58%   2.03 [0.18, 23.06]
 2.18%   1.00 [0.13,  7.60]

 0.63%   0.98 [0.02, 50.37]
 0.63%   1.31 [0.03, 67.67]
 3.89%   0.49 [0.12,  2.06]

 4.37%   0.21 [0.06,  0.79]
15.53%   1.13 [0.83,  1.52]
 3.35%   0.38 [0.08,  1.81]

12.43%   0.52 [0.32,  0.87]
 2.25%   0.98 [0.13,  7.20]

 0.92%   1.63 [0.06, 41.59]
 0.64%   0.99 [0.02, 50.39]
13.31%   0.79 [0.51,  1.24]
 0.62%   1.00 [0.02, 52.85]
 0.63%   1.00 [0.02, 52.04]
 0.93%   3.08 [0.12, 77.80]

Not targeting urine output in either protocol

Targeting urine output only in CFM

Targeting urine output in both protocols

Mortality Total Mortality Total
GDT CFM

Study and Year Weight OR [95% CI]

Test for heterogeneity: Tau2 = 0.18, Q (df = 12) = 5.51, P =  0.94; I2 = 20%
Test for overall effect: t = -0.8 (P =  0.44)

Test for heterogeneity: Tau2 = 0.05, Q (df = 4) = 1.13, P =  0.89; I2 = 3.2%
Test for overall effect: t = -0.71 (P =  0.52)

Test for heterogeneity: Tau2 = 0.17, Q (df = 10) = 13.04, P =  0.22; I2 = 47.6%
Test for overall effect: t = -1.95 (P =  0.08)

Test for heterogeneity: Tau2 = 0.15, Q (df = 28) = 19.77, P =  0.87; I2 = 31.3%
Test for overall effect: t = -2.3 (P =  0.029)

0.87 [0.59, 1.27]Random effects model for subgroup

0.83 [0.39, 1.74]Random effects model for subgroup

0.72 [0.49, 1.05]Random effects model for subgroup

0.784 [0.630, 0.974]Random effects model for all studies


